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• d`i;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr i`"B 16 rFkk      
iz'u 21 gSaA  

Please make sure that the printed pages in this 
question paper are 16 in number and it contains 21 
questions. 

• iz'u-i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks 
Nk= mÙkj-iqfLrdk ds eq[;-i`"B ij fy[ksaA 

The Code No. and Set on the right side of the 
question paper should be written by the candidate 
on the front page of the answer-book. 

• d`i;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad 
vo'; fy[ksaA 

Before beginning to answer a question, its Serial 
Number must be written. 

SET : D 
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• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 

Don’t leave blank page / pages in your answer-book. 

• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% 
vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u dkVsaA 

Except answer-book, no extra sheet will be given. 
Write to the point and do not strike the written 
answer. 

• ijh{kkFkhZ viuk jksy ua0 iz'u-i= ij vo'; fy[ksaA 

Candidates must write their Roll Number on the 
question paper. 

• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= 
iw.kZ o lgh gS] ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok 
Lohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkA 

 Before answering the questions, ensure that you 
have been supplied the correct and complete 
question paper, no claim in this regard, will be 
entertained after examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    

    (i) bl iz'u&i= esa dqy 21 iz'u gSa] tks pkjpkjpkjpkj [k.Mksa % ^v*] ^v*] ^v*] ^v*] 

^c*] ^l* ^c*] ^l* ^c*] ^l* ^c*] ^l* ,oa ^n*^n*^n*^n* esa foHkDr gSaA    

    (ii) lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    
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    (iii) [k.M&v[k.M&v[k.M&v[k.M&v ds iz'u la[;k 1 esa lksyglksyglksyglksyg (i-xvi) oLrqfu"B 

izdkj ds iz'u gSaA iz'u (i) ls (x) rd izR;sd dk mÙkj ,d,d,d,d ;k 

nksnksnksnks 'kCnksa ;k;k;k;k okD;ksa esa nhft,A iz'u (xi) ls (xvi) rd 

cgqfodYih; iz'u gSaA fn, x, fodYi esa ls lghlghlghlgh mÙkj 

pqfu,A izR;sd iz'u 1 vad dk gSA 

    (iv) [k.M&c[k.M&c[k.M&c[k.M&c esa iz'u la[;k 2 ls 13 rd vfry?kq mÙkjh; 

iz'u gSaA izR;sd iz'u dk mÙkj yxHkx 25 ls 50 'kCnksa 

esa nhft,A izR;sd iz'u 2 vadksa dk gSA 

    (v) [k.M&[k.M&[k.M&[k.M&llll esa iz'u la[;k 14 ls 19 rd y?kq mÙkjh; iz'u 

gSaA izR;sd iz'u dk mÙkj yxHkx 75 ls 125 'kCnksa esa 

nhft,A izR;sd iz'u 4 vadksa dk gSA 

    (vi) [k.M&[k.M&[k.M&[k.M&nnnn esa iz'u la[;k 20 o 21 nh?kZ mÙkjh; iz'u gSaA 

izR;sd iz'u dk mÙkj yxHkx 150 ls 200 'kCnksa esa 

nhft,A izR;sd iz'u 8 vadksa dk gSA 

    (vii) [k.M&n ds lHkhlHkhlHkhlHkh iz'uksa esa vkarfjd p;u iznku fd;k x;k 

gSA ,sls iz'uksa esa ls vkidks fn, x, p;u esa ls dsoy 

,d,d,d,d gh iz'u djuk gSA 
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General Instructions : 

    (i) This question-paper consists of total 21 

questions, which are divided into four 

Sections : 'A', 'B', 'C' & 'D'. 

    (ii)    All questions are compulsory. 

    (iii) Question No. 1 of Section–A consists of 

sixteen (i-xvi) objective type questions. The 

answer of each question from (i) to (x) may 

be given in one or two words or sentences. 

Questions from (xi) to (xvi) are multiple choice 

type questions. Choose the correct answer 

from given options. Each question carries 1 

mark. 

    (iv) Question Nos. 2 to 13 of Section–B are very 

short answer type questions. The answer of 

each question may be given in about 25 to 

50 words. Each question carries 2 marks. 

    (v) Question Nos. 14 to 19 of Section–C are 

short answer type questions. The answer of 

each question may be given in about 75 to 

125 words. Each question carries 4 marks. 
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    (vi) Question Nos. 20 and 21 of Section–D are 

long answer type questions. The answer of 

each question may be given in about 150 to 

200 words. Each question carries 8 marks. 

    (vii) Internal choice has been provided in all 

questions of Section-D. You have to attempt 

only one of the given choice in such 

questions.  

[k.M & v[k.M & v[k.M & v[k.M & v    

SECTION – A 

¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½    

(Objective Type Questions) 

  1. (i) fdl ^i)fr* esa lEcfU/kr fo"k; ij foLrkj ls ppkZ dh 

tk ldrh gS \ 1 

  Which 'Method' can be discussed in detail 

on the related topic ? 
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 (ii) gfj;k.kk jkT; dh lhek ds lkFk yxrs fdUgha nksnksnksnks cM+s 

^jkT;ksa* ds uke fy[ksaA   1 

  Write down the names of any two big 

'States', along with the Haryana State 

border. 

 (iii) ikjEifjd rkSj ij ^tkfr;k¡* fdlls tqM+h gksrh gSa \ 1 

  To whom 'castes' are traditionally related ? 

 (iv) fLeFk us fdl izdkj ds O;kikj dk leFkZu fd;k Fkk \ 1 

  What type of business was supported by 

Smith ? 

 (v) vBkjg o"kZ vk;q ds ^lkekftd lewg* dks D;k dgk tkrk 

gS \    1 
  What is called the 18 years 'Social Group' ? 

 (vi) lkekU;r% ge ^ckt+kj* 'kCn dk iz;ksx fdl LFkku ds fy, 

djrs gSa \   1 
  For what place, the word 'Bazaar' do we 

usually use ? 
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 (vii) fdl ekuo&foKkuh us ^/kksjkbZ* xk¡o dk v/;;u fd;k \ 1 

  Which anthropologist has studied the 

village 'Dhorai' ? 

 (viii) lHkh o;Ldksa dks ^er nsus dk vf/kdkj* fdlus fn;k \ 1 

  Who gave all adults the 'Right to Vote' ? 

 (ix) ^Je&foHkktu* fdl lkekftd fopkjd dh Ñfr gS \ 1 

  'Division of Labour' is the creation of which 

social thinker ? 

 (x) ^lkekftd fo'ks"krk,¡* O;fDr;ksa ds chp fdl izdkj dh 

fHkUurk dks izfrfcfEcr djrh gSa \  1 

  'Social characteristics' reflect what type of 

variation between individuals ? 

 (xi) ,d [kkl HkkSxksfyd {ks= vkSj ml ij jgus okys yksxksa ij 

dkSu fu;U=.k j[krk gS \   1  

  ¼v½ leqnk; ¼c½ jkT; 

  ¼l½ jk"Vª ¼n½ mijksDr lHkh 
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  Who controls, a particular geographical 

area and the people living in it ? 

  (a) Community  

  (b) State 

  (c) Nation 

  (d) All of the above 

 (xii) ^jk"Vª* dk Hksn n'kkZus okyh lcls utnhdh dlkSVh D;k   

gS \    1 

  ¼v½ leqnk; ¼c½ jkT; 

  ¼l½ jk"Vª ¼n½ mijksDr lHkh 

  What is the nearest criterion that 

distinguishes the 'Nation' ? 

  (a) Community (b) State 

  (c) Nation (d) All of the above 
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 (xiii) fuEu esa ls dkSu&lk] ns'k dh ^v[k.Mrk o ,drk* ds fy, 

dke djus okyk ,d ?kVd gS \  1 

  ¼v½ lkEiznkf;d naxs  

  ¼c½ tkfrxr yM+kbZ&>xM+s 

  ¼l½ lkekftd lejlrk  

  ¼n½ buesa ls dksbZ ugha 

  Which among the following is a factor of 

doing work for the 'Unity and Integrity' of 

the Nation ? 

  (a) Communal riots  

  (b) Caste battle fights 

  (c) Social harmony  

  (d) None of these 

 (xiv) fuEu esa ls dkSu&lk ns'k ^tula[;k* dh n`f"V ls tYnh gh 

igyk LFkku izkIr dj ysxk \   1 
  ¼v½ phu ¼c½ vesfjdk 

  ¼l½ Hkkjr ¼n½ buesa ls dksbZ ugha 
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  Which among the following countries will 

soon get the first position in terms of 

'population' ? 

  (a) China (b) America 

  (c) India (d) None of these 

 (xv) fuEu esa ls dkSu&lh oLrq dks ^dksydkrk ls fczVsu* dks 

fu;kZr fd;k tkrk Fkk \   1 

  ¼v½ phuh ¼c½ uhy 

  ¼l½ twV ¼n½ buesa ls dksbZ ugha 

  Which of these articles was exported to 

'Britain from Kolkata' ? 

  (a) Sugar (b) Indigo 

  (c) Jute (d) None of these 

 (xvi) fuEu esa ls fdl ^uxj* dks fczfV'k lkezkT; dh vFkZO;oLFkk 

ds fy, mi;qDr ekuk x;k \   1 

  ¼v½ eqEcbZ ¼c½ dksydkrk 

  ¼l½ psUubZ ¼n½ mijksDr lHkh dks 
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  Which of these 'cities' was considered 

suitable for the economy of the British 

Empire ? 

  (a) Mumbai (b) Kolkata 

  (c) Chennai (d) All of the above 

[k.M & [k.M & [k.M & [k.M & cccc    

SECTION – B 

¼¼¼¼vfry?kq mÙkjh; vfry?kq mÙkjh; vfry?kq mÙkjh; vfry?kq mÙkjh; iz'u½iz'u½iz'u½iz'u½    

(Very Short Answer Type Questions) 

  2. ^fofuos'k* fdls dgk tkrk gS \ 2 

 What is 'Disinvestment' ? 

  3. ^lkekftd vkUnksyu* ds dksbZ nksnksnksnks  izdkj fy[ksaA 2 

 Write any two types of 'Social Movement'. 

  4. ^,sfrgkfld i)fr* D;k gS \ 2 

 What is 'Historical Method' ? 



 ( 12 ) 4317/(Set : D) 

4317/(Set : D) 

  5. ^dkuwu* vkSj ^U;k;* esa fHkUurk crk,¡A 2 

 Differentiate between 'Law' and 'Justice'. 

  6. ^tkfrokn* D;k gS \ 2 

 What is 'Casteism' ? 

  7. 1901 vkSj 1951 ds chp Hkkjr esa fdu&fdu o"kksZa esa 

^tux.kuk* dk;Z lEiUu djk;k x;k \ 2 

 In what years between 1901 to 1951 'census' 

was conducted in India ? 

  8. ^vUrjtkrh;&fookg* dk D;k ykHk gS \ 2 

 What is the benefit of 'Inter-caste marriage' ? 

  9. ^lkfo=h ckbZ Qqys* ds ckjs esa vki D;k tkurs gSa \ 2 

 What do you know about 'Savitri Bai Phule' ? 



 ( 13 )  4317/(Set : D) 

4317/(Set : D) P. T. O. 

10. ^dk;Z'khy* oxZ dkSu&lk gS \ 2 

 What is the 'working age' class ? 

11. ^mifuos'k dky* ds nkSjku ^ekjokM+h* fdl izdkj ,d lQy 

O;kikfjd leqnk; cus \ 2 

 How 'Marwari' became a successful business 

community during the 'colonial period' ? 

12. Hkkjr ds fdUgha pkjpkjpkjpkj  izFke ^vk/kqfud m|ksxksa* ds uke fy[ksaA 2 

 Write down the name of any four first 'Modern 

Industries' of India. 

13. Hkkjr esa nksnksnksnks izeq[k ^/kkfeZd leqnk;ksa* dh izfr'krrk crk,¡ tks 

tula[;k esa lokZf/kd gksaA 2 

 Tell percentage of two major 'religious 

communities' which has most population in 

India. 
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[k.M & [k.M & [k.M & [k.M & llll    

SECTION – C 

¼y?k¼y?k¼y?k¼y?kq mÙkjh; iz'u½q mÙkjh; iz'u½q mÙkjh; iz'u½q mÙkjh; iz'u½    

(Short Answer Type Questions) 

14. ^tula[;k dh vk;q&lajpuk* ij ,d laf{kIr uksV fy[ksaA 4 

 Write a short note on 'Age-Structure of 

Population'. 

15. ^lkekftd&fo"kerk* ij vius fopkj O;Dr djsaA 4 

 Express your views on 'Social-Inequality'. 

16. ^vFkZO;oLFkk ds mnkjhdj.k* dk D;k vFkZ gS \ 4 

 What does 'Liberalization of Economy' means ? 

17. ^vuDokbV oqM~l* esa D;k mYys[k feyrk gS \ 4 

 What is written in 'Unquiet Woods' ? 
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18. ^etnwjksa* ds cM+s iSekus ij lapkj ls xzkeh.k lekt ij D;k izHkko 

iM+s gSa \ 4 

 What is the impact on rural society with 

widespread circulation of 'Labourers' ? 

19. ^losZ{k.k iz.kkyh* D;k gS \ 4 

 What is 'Survey Method' ? 

[k.M & [k.M & [k.M & [k.M & nnnn    

SECTION – D 

¼nh?kZ mÙkjh; iz'u½¼nh?kZ mÙkjh; iz'u½¼nh?kZ mÙkjh; iz'u½¼nh?kZ mÙkjh; iz'u½    

(Long Answer Type Questions) 

20. ^ou iapk;r* D;k gS \ ^fuj{kj efgykvksa* dks iapk;rh jkt dSls 

izf'k{k.k nsrk gS \ 4 + 4 = 8 

 What is 'Van Panchayat' ? How Panchayati Raj 

give training to 'illiterate women' ? 

vFkokvFkokvFkokvFkok    

OR 

 ^iapk;r* D;k gS \ iapk;r esa lekfgr 'kfDr;ksa dk o.kZu djsaA 

4 + 4 = 8 
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 What is 'Panchayat' ? Describe the strength 

contained in Panchayat. 

21. ^lkekftd&ifjorZu* ds fofHkUu izdkjksa ds uke fy[ksaA muesa ls 

fdlh ,d,d,d,d ij foLr`r ppkZ djsaA 3 + 5 = 8 

 Write the names of different types of 'Social-

changes'. To make detailed discussion of any one 

of them. 

vFkokvFkokvFkokvFkok    

OR 

 ^mifuos'kokn* D;k gS \ vk/kqfud Hkkjr esa mifuos'kokn dk D;k 

izHkko iM+k \   3 + 5 = 8 

 What is 'Colonialism' ? What were the impacts of 

colonialism in modern India ? 

! 


